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ENGLISH VERSION

Instructions : (1) There are 20 M.C.Q. in question no. 1.

(2) Write answer all questions in main answer book.

1 MC.Q. 20

ey

)

3)

4)

()

©6)

Individual Differences are depends on.

(A) Psychological environment

(B) Heredity and environment

(C) Social Environment

(D) Economical Environment

How many chromosomes are in child before birth ?
A4) 23 B) 46

©) 47 D) 48

Which model considers only one aspect of illness ?
(A) Health (B) Psycho-cultural

(C) Bio-Medical (D) Bio-Psycho sociological

‘Personal adjustment is a process between himself and

Environment’ say.

(A) Shelli and Man (B) Dematto

(C) Metraz (D) Lehner and Kyub

With whom food ingredients have relationship ?
(A) Metabolism (B) Rate of Breathing
(C) Heart Bites (D) Cerium cholesterol

Social relation is
(A) Hereditary (B) Collected
(C) By Birth (D) Stable

DG-001-0014137 ] 5 [ Contd...



@) main type of family
A 4 ®) 5
©) 2 ®) 3

(8) What 1s Vocation give to person ?
(A) Satisfaction (B) Interest
(C) Fantasy choices (D) Choices

9 Adjustment is moving process.
(A) Continuous (B) Daiscontinuous
(C) One way (D) None
(10) is technique help to decrease tension.
(A) Prayer (B) Relaxation
(C) Exercises (D) Diet control

(11) How many types of improving of adjustment ?

A 4 @) 5
©) 2 D) 3
(12) gland develop faster in adolescent.
(A) Sexual (B) Thyroid
(C) Adrenaline (D) Pancreas

(13) In which year adjustment psychology came in to

existence ?
A 1990 B) 2000
(€) 2001 D) 1992
(14) Which age girl's reaches sexual maturity ?
(A) 11-12 year (B) 12-13 year
(C) 14-15 year (D) 15-16 year
(15) How many functions of family by Makewere ?
A 4 ®) 5
©) 2 D) 3
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(16) How is process of adjustment ?

(A) to be healthy (B) one way

(C) to be famous D) two way
17 condition indicated in job.

A) 4 ®B) 5

©) 2 O) 3

(18) In which reasons induced critical position in family ?
(A) Unemployment (B) Accident
(C) Illness (D) Wars

(19) Who says ‘Permanent problem in job adjustment’ ?
(A) Ozen (B) Goldin
(C) Shelly (D) Pafan Brjar

(20) How many types of adjustment in married ?

A 4 B 5
©) 2 O 3
2  Explain the importance of Individual differences. 10
OR
2  Narrate the sources of individual differences. 10
3  Describe the factors affecting selection of life partner. 10
OR
3  What is Family ? Explain its types. 10
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(b)

Write short notes : (any one) 8
(1) Factors effecting of job selection

(2) Characteristics of adjustment.

Writes short notes : (any one) 8
(1) Problems of married life.

(2) Social relationship.

5 Write short answers : (any two) 14
(1) Improving of adjustment
(2) Strees
(3) Meaning of marital adjustment

4)

Meaning of vocational adjustment.
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